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Write the question number and one correct alternative in the answer paper.

AT WP e TR Ieren uara aWiT e,
How many of the integers 1234, 3516, 2352, 1332 and 4321 are divisible by 3 ?
1234, 3516, 2352, 1332 JMMT 4321 FdH et Tian @7 F AT AT 2

Al B.2 C.3 D.4

Snehal had a long chocolate bar. She gave some children — of the chocolate bar

6
each. One third of the bar was left. How many children were there ?
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A3 B.6 C. 4 D. 8 E. 5

s 5 -8

The diagram shows an equilateral triangle ABC touching the rectangle PQRS

at B and C. Find the value of mZPBA + m/SCA (=x +y)

FA STHT TH A PQRS WARMHKA a5l ABC & SWqS faT sieer
#R. mZPBA + m/SCA .

A. 45 B. 60 C.75 D. 90
. t 4" "3
What is the value of 2-3) (5-6) 8-9)
1 4 i '
- - T ?
(2-3) (5-6) 8-9) (el
A9 B.4 C.-2 D. 10

The measures of the angles of a triangle are (x + 15)°, (3x + 30)° and (2x + 15)°
respectively. Which triangle is it ?

T e e S A T (v + 15)°, (3x + 30)° and (2x + 15)° STRT SR,
W @ FreAlor HoTE ERET IR ?

A. Right angled triangle FE%IM @ B. Obtuse angled triangle fremer® T

C. Acute angled triangle Fl‘ﬂaﬁ? fIvT D, Isosceles triangle WA forpior
: , | (%mt @)
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In the adjacent figure AC 11 LP 11 RQ. DS is the transversal intersecting AC at B, LP
at M and RQ at N. If ZMNQ = 36° then find mZABD ?

SRl QRGN AC 11 LP 11 RQ. 31T 307 DS & 3t AC 1 B 79, LP &1 M
W T RQ A N A¥ Bed. X m/MNQ = 36°, T mLABD Fal,

A. 108° B. 124° C. 144° D. 136°

A In AABC,
mZC=90% CD L AD, m£B = 47°,
Find mZACD.

AABC #,
mZC = 90° CD L AD, m«/B = 47°,
mZACD .

C oy .
A 43 - B.53° C. 47 D. 53°

The diameter of cycle wheel is 1 m. Medha goes on the cycle on 220m straight road.
How many revolutions of the wheels will be made ?

ReTeA] WIAhTeAT IRl S 1 W, R, AT UeEeEe 220 W, W TEEET W,
A G I Rt B OEke ?
A. 100 B. 70 C. 80 D. 90

The diagram shows the positions of four people Ali,
Beena, Makarand and Neeraj in a room with a column
in the middle. Ali can see none of the others. Beena
can see only Makarand. Makarand can see Beena and
Neeraj. Neeraj can see only Makarand. Who is at the
position P ?
JFAAY ST Wi ST Giell SRaferelt R, = Wrefidier
= ST HITCAR qY IHT AR AT e HEEA Y
x . WG T ST I A e ST SRS
HHGEAL. P qRIEced Sl ST 37 ? -

A. Neeraj, FItt B. Alj, 3T&it  C. Beena, diH1 D. Makarand, TG

What is 49% f-zz‘?
at 1s 035.

22
" Sk o 49% foret ?

35
A. 0.308 B. 3.08 C. 30.8 D. 308
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Find the smallest number such that when it is divided by 8, 5, or 7, the remainder
is 1 and when divided by 4, the remainder is 0.

3,5, 7 AN STHAT A 1 S T 4 7 TICA T 0 I 30 TR T G F0It 2
A. 216 B. 136 C. 316 D. 336

Which of the following numbers cannot be a perfect square ?
Tefiedst Hvr de qof aiden smo v T 2
A. 83615 B. 13456 C. 10609 D. 12321

What is the smallest possible difference between two different nine digit integers,
each of which includes all the digits 1 to 9.

119 R IS 3 U 9 e G THATE SR, AT AN ST Fe
FH & Rt 3T e ?

A9 B. 18 C. 27 D. 39

A square is divided into 3 congruent rectangles as shown. The middle one is removed

and placed touching the others vertically as shown in the figure. What is the ratio
of the perimeter of the square to the perimeter of the new figure (fig. B)

Fig A FigB

3T A A B

el AR TH AR A GRGA TS fomTen S1R. wTeiel qeel Sad
SUCLT Ml B WY TREECAIHN ST Y I e, dRart R sqfr
It B wefier IR TUIRR e,

A 3:5 B.2:3 C.5:8 D.1:2

Consider the result of inserting two multiplication symbols between the digits 2, 2,
3, 3 and 3 and a number is formed 223 X 3 X 3 = 2007. What is the largest number
that can be formed ?

2,2, 8 3 3MMUT 3 N bl HIE I TIHERIE &R Sweeht AT TomER e,
3q1. 223 X 3 X 3 = 2007 WM FHR I3 VHUTH HSAq WS G B ?

A. 2007 B. 2012 C. 2178 D. 2208

‘ Rectangle ABCD has sides 6 cm and 7 cm.
X B Rectangle PQRS has sides 8 cm, 9cm by
horizontally. The shaded portion has area

32cm>. Find the area of the portion shaded
vertically.

P Q  ad ABCD 1 & 6cm & 7cm 3.
A PQRS AT T AT SIS 8cm 37T 9cm
D 5 C RA. AT W TRETIT AR ST
32cm? SR, T 3T Wi TETIT WA
TS forelt ?

S R

A. 52 cm? B. 72 cm? C. 62 cm? D. 70 cm?
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A In the figure mZBAC = 70°. Ray BD is the

angle bisector of ZABC and Ray CD is the angle

bisector of AACB. Find mZBDC ?

T MFcid mLBAC = 70° f&oT BD &
ZABC =1 1M1 f0T CD & & g9 3R, ™
m/BDC et ?

B ¢
A. 125° B. 140° C. 105° D. 110°

Ifp+p=n, andp+n=qandd=q+n.Thenwhatisthevalueof; ?

d
‘GI'{pr+p=n,p+n=q3TTﬁ’Td=q+n,ﬁI 5?

A5 B.3 C.15 D.6
V200 + /625 = ?
A. 35 B. 30 C.15 D. 40

Consecutive natural numbers are numbers in an order e.g. 7, 8, 9, 10, 11. Find five
consecutive numbers such that the sum of the first and the third is 132 and sum of
first and fifth is 134.

FANTT GG WU 7, 8, 9, 10, 11 3TN 3N AT HEAT 3T Ul shATTA WA |
B e qfee ST fae=r St ads 132 InfT ufen onfor wreew weAs
IS 134 TR,

A. 60, 61, 62, 63, 64 B. 62, 63, 64, 65, 66
C.67,68,69, 71,72 D. 65, 66, 67, 68, 69

Write the answers with justification.

(FRUTHE W eet.)

The six angles in degrees of two different triangles are listed in descending order.
The descending order starts 115, 85, 75 and 35. What are the other two angles.
Complete the list.

3 BT 6 5 4 SN A Save HAR el IRa. Ardter A 115, 85, 75, U1
35 3T ST T ITACAT A A HY W T A U

When Atul, Vandana and Meghana compared the amount of money each had, they
discovered that Atul and Vandana together have Rs.12, Vandana and Meghana
together have Rs.18 and Atul and Meghana together have Rs.10. Who had the least
amount of money ? How much ?

o W I S AT AT WEH 12 T. M. FeA T AehS e T
18 %. BN, T g AT AFS s 10 €. AW, T FET TR I FHowRS W ?
foreit ?

Among all rectangles with length of the sides natural numbers and perimeter
22cm,how many have different areas ? ‘

oRfact 22 A STEUIEAT @ Wik AT il WEA SF@UNAT Rl STEdie &Hbes
TS A ?

20
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I have a drawer which contains following numbers of socks with different colours.
12 green, 9 blue, 11 white and 8 brown. Suppose I am blind folded. What is the
fewest number of socks I must pick from the drawer to be absolutely certain that I
have two socks of the same colour among those I have picked ?

W S QI 40 WIS 3R, o 12 7, 9 13, 11 vk onfor 8 aufsed; e,
T SR FHA. Telr W B A Feal R ¥ WNOWIR AE). FHiT 9 Rt At @
T wvS fasdedn Aisaid tHE T 9T 9 e ?

Given any natural number m > 1, Find n #0, n > m such that m and n has a common
factor greater than 1 and similarly the pairs (m + 1), (n + 1) ; (m + 2) and (n+ 2) have
a common factor greater than 1.

m & T Je WST ARl e MR, TN n FRT A, m ST n T THEAT AT GHRT A SR,
TEF (m + 1) 3T (0 + 1); (m + 2) ST (n + 2) B SISTTRE THRST FST WUROT I 37,

Answer the following with reasons.

(FRUTHlET wiawR W foe.)

Hundred cards are placed in a row on a table in a room. Hundred people enter the
room successively. First person flips all cards, second flips 2nd, 4th, 6th.... cards,
third flips 3rd, 6th and 9th... cards and all the 100 people flip card in this manner.
Which cards remain in their original position ?

TH e, TH SRR Q0 o T S HiSe R4, TR SR TWH YBINS T 39+ @reersmrot
T e U ST T W e, gEl R gR, 99, T, W e, Rl s B,
TEE, TE..... T ST, T I §E ¥R SR TR Saear. Yeet Hiv T g Redid swdie 2

If we use different letters for different one digit numbers. A square of a 3 digit
number N is written as (APP)? = BPCRA. Find NC.

P HFEE TS R AqGEA N 1 i it g@den 9 e fafger R, (APP)? =
BPCRA. @ N @@l

P
A | N -
_TI! T ’
B

There are 6 squares in which letters P, A, N, Z, T, S are written as in the shape
shown in fig. 1. It is folded on dotted lines and cube is formed (fig. 2) Which letter is
on the square opposite to the square having T on it.

TET 9w P, A, N, Z, T, S & U, U 7R fofech oted. wiet o1 ¢ SH1o) o hefl. @ 3iepeitdier
fEafeait Traaaean aISa GHSH U9 Shall. (3. 3) T & STEREHREAT JREET ST SRR 3w ?
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